
To find r, you can 
always take the 2nd

number and divide by 
the 1st number.
2 ÷ 1 = 2, so r = 2.

Page 231

If the ratio 
between each 
number in the 
sequence is the 
SAME or 
CONSTANT, then 
it’s geometric.



Start with 1, but change the common ratio from 2 to 3.



Start with 1, but change the common ratio to 1/3.



Skip #6.

The sequence would alternatively increase and decrease because the sign would change 
for every other number.

Yes, because you still have a constant ratio between any two numbers.

Start with 1, but change the common ratio to -2.

Go back to page 225 and look at each sequence.



Now let’s look at each of those and find the common ratio.
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Go back to page 225 and look at each sequence.


